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| m= 1 EE 2 EE 3
| —H dorh | —H | —H bl
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z H Wsw [Nsw| qu mv 40| S z H Wsw [Nsw| qu mv 40| S z H Wsw [Nsw| qu mv Ao
m | m &N)_|@/m)| (N/m?) | (mP/AN) [kN/m®) (cm) m | m &N)_|@/m)| (N/m?) | (mPAN) [kN/m?) (em) m | m &N)_|@/m)| (kN/m?) | (mP/kN)_|(kN/mB) (em)

0.05/0.05000)1.00| 4. 148.0000.00052111.000.03] 10.25/0.252 0.0|1.00/ . 8.51.000.0004911.00[0.13] |0.25/0.25[0 0.0/1.00| 24 63.000.0004011.00/0.11
0.30(0.25[200/0.75| 0 [33.75/0.00074111.000.20] 10.50/0.250 0 0|1.00| 48181.000.00031110.99/0.08] [0.50/0.250 0 0|1.00| 12 54.000.00046/10.99/0.13
0.55/0.25[700/1.00| 8 [51.0000.00049110.990.13| 10.75/0.250 0 0|1.00| 52 84.000.0003010.97/0.08] [0.75/0.250 00|1.00| 0 45.000.00056/10.97/0.15
0.80(0.25[700/1.00) 8 51.000.00049/10.97/0.13] 1.00/0.25[0 0.0|1.00| 48 81.0000.00031[10.94(0.08| |1.00/0.250 0 0|1.00| 32(69.000.00036/10.94/0.10!
1.05/0.25000/1.00| 8 51.000.00049(10.93/0.13] 1.25|0.25[0 0.0]1.00| 80(105.000.00024/10.88/0.06| |1.25/0.250 0.0|1.00/ 28/66.000.00038110.88/0.10
4
0

1.30/0.25[200]1.00 48.000.00052/10.87/0.14] 1.50/0.25[0 0.0|1.00| 841108.000.00023[10.80/0.06| |1.50/0.250 0.0|1.00| 28(66.000.00038[10.80|0.10,
1.55/0.25[000(0.75 33.7500.00074(10.780.20| |1.75(0.25(0 0.0]1.00| 7299.000.00025[10.70/0.07] |1.75/0.250 0.0|1.00| 40[75.000.00033[10.70/0.09
1.80/0.25/000)1.00| 32 169.0000.00036[10.67/0.10f |2.00(0.250 0.0]1.00| 7299.000.00025[10.56/0.07] 2.00| 0.25( 01|1.00| 48 81.000.00031/10.56/0.08
2.05/0.25[000/1.00 44 [78.000.00032/10.540.08] [2.25/0.25[0 0.0|1.00| 4881.000.00031/10.41(0.08| |2.25/0.25[0 0.0|1.00| 40[75.000.00033/10.41/0.09
2.30(0.25[000/1.00/ 60 90.000.00028/10.37/0.07] 2.50/0.25[0 0.0|1.00| 841108.000.00023/10.23/0.06| |2.50/0.25[0 0.0|1.00| 40[75.000.00033[10.23/0.09
2.55(0.25[000/1.00) 92 [114.000.00022/10.19/0.06] [2.75/0.25[0 0.0|1.001501157.500.00016/10.03/0.04| |2.75/0.25[0 0.0|1.00| 5687.000.00029/10.03/0.07
2.80|0.25[000]1.00{120135.000.00019/9.99|0.05] [3.00/0.25[0 0.0} 1.00150/157.500.00016/9.81/0.04| |3.00/0.25[0 0,0|1.00] 76 102.000.00025|9.81|0.06
3.05(0.25[000/1.00/132(144.000.00017/9.76/0.04] |3.25/0.25[0 00| 1.00| 5284.0000.00030/9.57/0.07| |3.25/0.25[0 0 0|1.00150[157.500.00016|9.57|0.04
3.30(0.25[000/1.00| 40 [75.000.00033/9.53/0.08] [3.50/0.25[1 0.0|1.00| 44[78.0000.00032/9.33(0.07| |3.50/0.25[0 0.0|1.00148[156.000.00016|9.33|0.04.
3.55/0.25[000]1.00| 28 [66.00/0.000389.28|0.09] [3.75/0.25[0 0.0|1.00128/141,000.00018/9.05|0.04| |3.75/0.25[0 0.0|1.00| 7299.000.00025|9.05|0.06
3.80/0.25|000]1.00| 52 184.00/0.00030/9.02|0.07] {4.00(0.25/0 0 01.001.12(129.000.00019/8.80|0.04| 14.00|0.250 0 0|1.00150(157.500.00016/8.80/0.03
4.05/0.25[000]1.00| 60 190.0000.00028.8.73|0.06| 14.25/0.25/0 0.0|1.00| 96/117.000.00021,8.54(0.05| |4.12/0.12/0 0.0|1.00/150(157.500.00016/8.65/0.02
4.30/0.25000]1.00]100(120.000.000218.46/|0.04| |4.28/0.03[0 0 0|1.00150/157.500.00016/8.50{0.00
4.55/0.25/000/1.00[150157.500.00016/8.20|0.03
4.77/0.22|000/1.00[150[157.500.00016/7.97|0.03
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z H Wsw |Nsw| qu mv 40| S z H Wsw [Nsw| qu mv 40 | S z H Wsw [Nsw| qu mv 40 | S
(m) (m) (kN) |[@/m)| kN/m®) | (m2/kN) [kN/m?)| (cm) (m) (m) (kN) |[@/m)| kN/m®) | (m2/kN) [kN/m?)| (cm) (m) (m) (kN) |[@/m)| kN/m?) | (m2/kN) [(kN/m?)| (cm)

0.20/0.20/2 0.0/1.00| 24/63.000.00040/11.00 0.09] |0.25/0.25/7 00| 1.00 56/87.000.0002911.000.08)
0.45/0.25[0 00/ 1,00 12/54.000.00046[10.99/0.13 [0.50[0.25[0 0 0] 1.00] .. 8/51.000.0004910.99 0.13
0.70/0.25[0 0.0/ 1.00| 36(72.000.0003510.98/0.10 |0.75/0.25/0 0.0/ 1.00| . 8/51.000.0004910.97,0.13
0.95/0.25/00.0/1.00] 32/69.000.00036/10.95/0.10] |1.000.25/0 00/ 1.00 12/54.000.00046/10.940.13)
1.20/0.250 0.011.00] 32/69.000.00036/10.89 0.10] | 1.25/0.25/0 0.0] 1.00, 20/60.000.00042/10.88 0.11]
1.45/0.25000/1.00] 48/81.000.00031110.8210,08| | 1.50/0.25/0 0.0] 1.00| 40(75.000.00033[10.80 0.09|
1.70/0.2500.0]1.00] 48181.000.00031/10.72.0.08| [1.75/0.25/0 0.0/1.00 48/81.000.00031/10.70 0.08]
1.95/0.2500.0]1.00] 36(72.000.00035/10.59 0.09] [2.00/0.25/00.0/1.00, 68/96.000.00026/10.56 0.07]
2.20/0.25000/1.00[120[135.000.00019(10.44 0.05] | 2.25/0.25/0 00| 1.00 88/111.000.0002310.41 0.06)
2.45/0.25[0 0 0] 1.00[128(141.000.0001810.27/0.05 |2.500.250 0 0] 1.00| 56|87.000.0002910.23 0.07|
2.70/0.25[0 0 0] 1.00[136(147.000.00017[10.07/0.04f |2.75/0.250 0 0| 1.00| 44(78.000.0003210.03 0.08]
2.95/0.25[00.0/1.001150(157.500.0001.6/9.84/0.04{ |3.00/0.25[0 0.0/ 1.00] 68/96.000.00026/9.81/0.06)
3.2010.25[0 0.0/ 1.00[124(138.000.0001.8/9.61/0.04{ | 3.25(0.250 0. 0] 1.00(1241138.000.0001.89.57 0.04
3.45/0.25[00.0/1.00] 72/99.000.00025/9.37|0.06| |3.50/0.25[0 0 0| 1.00| 88[111.000.00023/9.33 0,05
3.7010.25[0 0.0/ 1.00[144(153.000.00016/9.11/0.04f |3.75/0.250 0 0] 1.00(1121129.000.00019/9.05| 0.04
3.95/0.25[00.0/1.00[150157.500.00016/8.86| 0.04] |4.000.25/0 0 0] 1.0011501157.500.00016/8.80,0.03
4.2010.25[0 0.0]1.00/150(157.500.00016/8.58|0.03| |4.25/0.25/0 0.0/ 1.00150157.500.00016/8.540.03
4.45/0.25[0 0.0]1.00| 44(78.000.00032/8.29/0.07| 14.50,0.25/0 2.0/ 1.00100120.000.00021)8.25/ 0.04
4.61/0.160 0.0]1.00/150(157.500.00016/8.11/0.02| |4.750.25/0 0.0/ 1.00150157.500.00016,7.97,0.03
4.91/0.16/0.0.0/1.00[150157.500.00016|7.82/ 0.02]
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EMEInRE=8 MEREMEA (KN/m?2) Ao,= q/2m ((mn/ (M2n2+1)) - [(m2+n2+2)/{(m2+1) - (n2+1)}]+sin'[(mn)/¥ {(m2+1) (n2+1)}]1)
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